
 

 



 

 

 

                                                           



 

 

max
xi ∀ i

U(x1, x2, … , xn) = ∏ xi
βi

n

i=1

∑ pixi

n

i=1

= I

VCrel = ∏(1 + πi)
βi − 1

n

i=1

Ieq =
I

1 + VCrel

 



 

𝐲𝐭 = ∑ 𝐀𝐣𝐲𝐭−𝐣

𝐩

𝐣=𝟏

+ 𝐮𝐭

                                                           

seqt = {

ll̅t
80 − llt

ll̅t
80 ,          llt ≤ ll̅t

80         

   0,                    llt > ll̅t
80       

llt ll̅t
80

 



 



 

 





 

 

 



 

 

 



 
                                                           



 



 

 

 

 

 



 

 

 

 



 



 


